### DR QUINN AND ASSOCIATES LTD.

#### VIA E-MAIL & COURIER TO THE BOARD

October 23, 2014

Ontario Energy Board P.O. Box 2319 27<sup>th</sup> Floor 2300 Yonge Street Toronto ON M4P 1E4

Attn: Kirsten Walli, Board Secretary

### RE: EB-2014-0154 UNION - OGVG COST CLAIM

Please find attached the cost claim of the Ontario Greenhouse Vegetable Growers (OGVG) in the above proceeding.

Respectfully Submitted on Behalf of OGVG,

Dwayne R. Quinn

Principal

DR QUINN & ASSOCIATES LTD.

c. C. Ripley - Union Gas

Dwape 2

J. Taylor - OGVG

### DR QUINN & ASSOCIATES LTD.

**Invoice** 

130 Muscovey Drive, Elmira, ON N3B 3P7 (519) 500-1022

drquinn@rogers.com

Date	Invoice #
14/10/2014	90

		_
In	/oice	10

Ontario Greenhouse Vegetable Growers 32 Seneca Road, Leamington, Ontario N8H 5H7 Dr. Justine Taylor

Terms

Service Dates	Description	Qty	Rate	Amount
	REPRESENTATION IN EB-2014-0154 UNION GAS PENALTY RATE			
09/05/2014	REVIEW ISSUE AND RESPOND TO OGVG	1.5	330.00	495.00
26/05/2014	REVIEW HISTORY AND DRAFT IR'S	2	330.00	660.00
27/05/2014	PRODUCE DRAFT IR'S FOR CLIENT REVIEW	2.5	330.00	825.00
02/06/2014	REFINE IR'S AND SUBMIT	1.5	330.00	495.00
17/06/2014	REVIEW IRR'S	3.5	330.00	1,155.00
26/06/2014	REVIEW MOTIONS - DISCUSS WITH PROPONENT	1	330.00	330.00
27/06/2014	REVIEW MOTIONS	1	330.00	330.00
28/07/2014	PREPARATION AND CALL WITH OGVG AND INTERVENOR	1.5	330.00	495.00
29/07/2014	REVIEW DECISION ON MOTION	0.5	330.00	165.00
09/09/2014	REVIEW RECORD & ARG IN CHIEF	2.5	330.00	825.00
10/09/2014	DRAFT ARG. FOR CLIENT REVIEW	3.5	330.00	1,155.00
12/09/2014	REVIEW BOARD STAFF & OTHER SUBMISSIONS		330.00	330.00
	HST on Sales		13.00%	943.80

**Total** \$8,203.80

## Ontario Energy Board COST CLAIM FOR HEARINGS



### **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			1	nstructions		
<ul><li>All claims m</li><li>A separate</li><li>Disbursemen</li></ul>	nust be i "Detail onts Being	n Canadian dollars. If appli of Fees and Disbursements E g Claimed") is required for ea	cable, state e Rate: Being Claimed ach lawyer, ar	" (comprising a "Statement of Fee nalyst/consultant and articling stu	I currence Country: es Being C dent/par	y. Claimed" and a "Statement of alegal.
				vering the whole of the party's cos		hould be provided.
				igned by a representative of the p ovided to the Board as prescribed		Cost Award Tariff.
		x 10		Pirection on Cost Awards, itemize		
File# EB-	2014-	0154		Process: UNION GAS PENAL	LTY RATI	E
Party:	Ontar	i <mark>o Greenhouse Vegetabl</mark> e	Growers	Affiant's Name: Dway	ne R. Qu	inn
HST Numbe	er:	82029 2415 RT0001		HST Rate C	Ontario:	13.00%
		Full Registrant	<b>☑</b>	Qualifying No	n-Profit	
		Unregistered		Tax	Exempt	
		Other				
				Affidavit		,
l,	. /-	R. Dwayne Quinn		, of the City/Town of		Elmira
in the Prov	vince/S	tate of C	ntario	, swe	ar or aπ	firm that:
2. I have exa Being Claime 3. The attach Disbursemen Ontario Ener 4. This cost of	mined a ed", "Sta ned "Sur nts Being rgy Boar claim do sections	Il of the documentation in stement(s) of Fees Being Clainmary of Fees and Disburse Claimed" include only cost diprocess referred to above so not include any costs for 6.05 and 6.09 of the Board	upport of this imed" and "St ments Being ( s incurred and work done, o	and as such have knowledge of socst claim, including the attached attement(s) of Disbursements Beir Claimed", "Statement(s) of Fees Bed time spent directly for the purportime spent, by a person that is a section on Cost Awards.	d "Summang Claime eing Clain oses of th	ary of Fees and Disbursements d". ned" and "Statement(s) of e Party's participation in the
•						
		ed before me at the Cit	y/Town of	Workeloo		,
in the Prov	vince/S	state of O	10	, on <u></u>	r <u>al</u>	304.
	\	Hea	ther Anne Gi	ant, a Commissioner, etc.,		

Barristers and Solicitors. Expires November 2, 2016.

Province of Ontario, for Dueck, Sauer, Jutzi & Noll LLP,

# Ontario Energy Board COST CLAIM FOR HEARINGS



### **Affidavit and Summary of Fees and Disbursements**

**Commissioner for taking Affidavits** 

File # EB- 2014-0154 Process: UNION GAS PENALTY RATE

Party: Ontario Greenhouse Vegetable Growers

Summary of Fees and Disbursements Being Claimed							
Legal/consultant/other fees	\$	7,260.00					
Disbursements	\$	-					
HST	\$	943.80					
Total Cost Claim	\$	8,203.80					

#### **Payment Information**

Make cheque payable to: ONTARIO GREENHOUSE VEGETABLE GROWERS

Send payment to this address: 32 Seneca Road,

Leamington, Ontario

N8H 5H7

Attention: Dr. Justine Taylor

# Ontario Energy Board COST CLAIM FOR HEARINGS



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2014-0154		Process: UNION GAS PENALTY RATE						
Party:	Ontario Greenhouse Vegetable Growers			Service Provide	r Name:	Dwayne R. Quinn			
	SERVICE PROVIDER TYPE	(check	one)	Year Called to Bar		Completed Years Practising/Years of Relevant Experience			
	Legal Counsel					27			
	<b>Articling Student/Paralegal</b>								
	Consultant					Hourly Rate: \$330			
	Analyst								
	For Consultant/Analyst:	7	√ atta			narged (enter % ): 13.0%			
		C,	v prov	ided within previous 24 m	onths				

Statement of Fees Being Claimed									
	Hours Hourly Rate				Subtotal		HST	Total	
Pre-hearing Conference									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Technical Conference									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Interrogatories									
Preparation	7.5	\$	330.00	\$	2,475.00	\$	321.75	\$	2,796.75
Responses	3.5	\$	330.00	\$	1,155.00	\$	150.15	\$	1,305.15
Issues Conference									
Preparation	2.0	\$	330.00	\$	660.00	\$	85.80	\$	745.80
Attendance		\$	330.00	\$	-	\$	-	\$	-
ADR - Settlement Conference									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Proposal Preparation		\$	330.00	\$	-	\$	-	\$	-
Argument									
Preparation	9.0	\$	330.00	\$	2,970.00	\$	386.10	\$	3,356.10
Oral Hearing									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Other Conferences									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Case Management		\$	170.00	\$	-	\$	-	\$	-
TOTAL SERVICE PROVIDER FEES				\$	7,260.00	\$	943.80	\$	8,203.80